HELPFUL EXAMPLE

REWRITE THE NOTHING +1=1
3.2+ 2 .41 PROBLEM WITH THE 3.2 3.2 2+4=6 3.2
DECIMALSLINEDUP. |+ 2 .41  +2.41 | 5 ., 5 +2.41

THEN BRING THE 5.61

DECIMAL STRAIGHT
DOWN AND ADD

1. 63.5+8.41 2.27.6+2.34

4. 394 .6+ 237 .2

3.228.2+293.51

6. 362.8 + 2670 .1

5.1382.6 +237.2

7. 31839 .7 +4382.2 8.132.09+99.5

9.368.4+129.8 10. 238.0+742.7

1. 7303.75+3724 .8 12. 47955 .8 + 274 .7

13.76.930 +109 . 4 14. 459 .4 + 17259 .7

15.621.75 + 234 . 86 16. 521.3 +152 .47

17.90.4+48 .13

18. 620.8+9 .1

19.2934.6+724 .5 20.109.3 + 7612 .59

21.63.4+4 .44 22. 22.6+36.1
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